blank pages.
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin:

50, will be treated as malpractice.

8 =

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+
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Seventh Semester B.E. Degree Exammatlon, Aug./Sept.2020
Operations Research

Max. Marks:100

//Wm‘* ]
Sfrom each part.

Time: 3 hrs. ’
Note: Answer any FIVE full questions, selecting. t least TWO questi

1 a Name and explam any three apphca' * i 3 (04 Marks)

Minimize Z = 5x +10y
Subjectto x +2y <120
X+y2 60 \

(06 Marks)

Inputs (units) Outpu (units)

tude-A | Crude-B | gasoline<X | gasoline-Y
°5 3 4 5 8

4 5 Wzt 4 7
3 ;md 150 units ot type ‘B’. The
“and gasoline- -Ymust be produced.
300 and Rs.400.

The estimated profit from

Formulate the problem an (10 Marks)
2 (04 Marks)
(06 Marks)
(10 Marks)
3

problem and get the injtial solution by VAM method. ' (12 Marks)
i %gyon D |E |F |G

42 | 48 | 38 | 37
401495251
3913840143
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b. Four machines to be assigned to four jobs. The cost matr{i,
proper assignment and total cost by Hungarian method

achine |[A |B |C |D
Job
1 8 [10]1719
2 318|516 E
3 101121119 [ ®
4 6 113]9 |7

a. Explain the Branch and Bound metho for‘Iﬂteger Programming.

10ME74

s'given as follows. Find the

(08 Marks)

(05 Marks)

b. Find the solution to the given LPP u g ‘Gomory’s fractlonal cut techmque

Maximize Z =X, +X,
Subject to 3x, +2xX, £5
X, £2
"
Xy and xz> gr

Activity § ” ’A

Predece or|

(i) = 51 project duration anch SJ?
(i) Optimum project duration &fidicost after crashin
Activity 1-211-312-4]3
: 7 -
Normal 150
2
Crash | 350

a. Explain queulﬂ&system Also list ang @(ﬁlam queue disciplines.

(15 Marks)

(10 Marks)

(10 Marks)

(05 Marks)

b. In a railway yard; goods trains arm*re at 2 rate of 30 tramsfday Assuming inter arrival time
follows an exﬁonentml distributio %an service time : 5i’soﬁ’an exponential distribution with an

llowing:

W’*f X

0] The fnean queue siz R =
(i) THe probability the« ’
1f the input of trains in

(15 and (i1)?

33 trains/day,

*%f
a. Explain the theory’ of dominance in
b. Obtain opt1mal sfrategies for both
gpﬁy off matrix as follows
Player — B
B, B,
- 3”

20of3

what will be the change in

(10 Marks)
(05 Marks)

(04 Marks)

efsons and value of the game for two persons zero sum

(08 Marks)
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Two players A and B play a game in which each hékiﬁ“‘?rée coins Sp, 10p and 20p. Each
player selects the coin without the knowledge of gther player. If sum of the coin is an odd
number then ‘A’ with ‘B’s coin and if sum of %l”éwcoiﬁ is an even number then B with A’s

coin. Find the strategy of each player and the va %p? the game. (08 Marks)

ds

e
A machine operator has to perform thre " h“ggtions on number of diff ept jobs. Determine
the order of job and total elapsed time (hrs),with idle time of machine w
Jobs e :

&

Machinesv |1 {2 |3 ey
Tuming (&) | 5 | 14| 7 | &% L
Threading (B) | 10 | 8 | 6,188 o
Knurling (C) | 15 16 | 11, o

3 ﬁs%m}ém (10 Marks)

Find the optimum sequeng machfines) using graphical method:

Sequence |A*| B
Jobl e %43 4
Sequence | B [ C
Job 2 Rre™ 514

(10 Marks)
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